SC/BIOL 4151 Membrane Transport; Second Hour Test

To assess the selectivity of the gramicidin channel to different
cations, you add 25 mM CsCl plus 1 mM NaCl to one side (cis) of
the bilayer chamber setup, and 50 mM NaCl plus | mM CsCl to
the other side (rrans). The trans chamber containing NaCl is the
‘zround’, with a voltage of zero relative to the cis chamber
containing CsCl. You measure a zero current potential (where flux
is zero) of —50 mV.

Determine the ratio of P, /P, . And, interpret vour result based
upon the diffusion coefficients for Cs* (2.06 « 107° em/sec) and
Na* (1.33 = 107 cm/sec)

Please assume (correctly) that when the cis chamber contains 100
mM KCl and the rrans chamber contains 10 mM KCl, the zero
current potential is about —35 mV.
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